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QUESTION 1

Refer to the exhibit.

‘Fulse ?

Pulse is the Nutanix automated support sysiem, Pulse provides dingnostic
system data to Nutanix in order lo deliver proactive, contest-aware support for
Mutanix solutions. Should an ssue arlse, enabling Pulse can reduce issue
resolution time by up to 0%, By defaull, certain support information (such as

entily names) are not sent aver Pulse. Learn More

B Enable
O Include additional suppont information (recommended)

Sending additional suppor information via Pulse (such as entity names)
enables Nutanix support to provide guicker, more precise support in the

event of an issue. Nutanix does not collect personally-identifiable

information.
Status FAILED '
Last Checked Time 0513720, 10:18:43 AM

Additional Info m

An administrator has enabled Pulse, but is getting the error shown in the exhibit. What is causing this error message?
A. Subscription expired

B. Incorrect licensing

C. Firewall misconfiguration

D. Expired SSL certificate

Correct Answer: C

QUESTION 2

What happens when an HDD fails within a Nutanix cluster?
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A. Data is reprotected automatically

B. Data is unavailable until disk is replaced
C. Data is lost and must be recovered

D. Data is rebuilt to a hot spare disk

Correct Answer: A

QUESTION 3

An administrator has been tasked with delivering a report on all nutanix Field Advisors (FAs) Affecting each of the
clusters.

What is the most efficient way to collect this data?

A. Request an environmental audit from the Nutanix Support
B. Use Prism to run NCC and Check for information on FAs
C. Review the discoveries information on the support Portal
D. Review Field Advisories published on the Support Portal

Correct Answer: B

QUESTION 4

How should an administrator view the storage consumed by the recycle bin?
A. On the storage Overview dashboard

B. In the Cluster Details Page of the cluster setting

C. On the storage Summary Widget on the Prism Dashboard

D. In the Diagram or Table view on the Storage dashboard

Correct Answer: D

QUESTION 5

Refer to the exhibit.
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Data Resiliency Status ? x
FAULT DOMAIN TYPE: HOST
BOMENT z RES TOILERABLE i 3
Static 1
Configuration
ZooKeeper ] Desired faull tolerance for

Zookeeper is 1 bul we can
tolerate only O node fallure(s)

Stargate Q Based on unhealthy node list
Health (5,) the cluster can tolerate a

maximum of O nade faillure(s)
Oplog 1

Metadala 0 Metadata ring partitions with
nodes: 1921681.33,
192168.1.31, 192.168B.1.32 are
not fault tolerant

Extent Groups 1

Erasure Code 1

An administrator notices that the Data Resiliency Statue of some components has been reduced to 0.
making it impossible to support a

node failure in the cluster.

What type of failure is most likely the cause of this issue?

A. Block

B. Disk

C.CVM

D. Nods

Correct Answer: C
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